
(sin x + cos x)/cos x  + 3sin2x = cos^2 2x + tg x

cos2x-cosx=0
2cos^2(x)-cosx-1=0
cosx=y
2y^2-y-1=0
y1=1
y2=-1/2
cosx=1
x=0+2Pk
cosx=-½
x=+-2P/3+2Pk

ax^2+bx+c=0
x1+x2=-b/a
x1*x2=c/a

x1=1

1*x2=c/a

0<=2Pk<=5P/2
0<=k<=5/4
0;1
x=0;2P

0<=2P/3+2Pk<=5P/2
-2P/3<=2Pk<=5P/2-2P/3
-⅓<=k<=11/12
0
x=2P/3

0<=-2P/3+2Pk<=5P/2
2P/3<=2Pk<=5P/2+2P/3
⅓<=k<=19/12
1
x=-2P/3+2P=4P/3

(sin x + cos x)/cos x  + 3sin2x = cos^2 2x + tg x
sin x/cos x+cosx/cosx +3sin2x= cos^2 2x+tgx
tgx+1+3sin2x= cos^2 2x+tgx
1+3sin2x= cos^2 2x
1+3sin2x=1-sin^2(2x)
1+3sin2x-1+sin^2(2x)=0
sin2x=y
y^2+3y=0
y=0  y=-3
sin2x=0
2x=Pk
x=Pk/2

sin2x=-3
Реш нет

cosx!=0
x!=P/2+Pk
Ответ:Pk


